2017
' ECONOMICS
[ Honours ]
PAPER — IV
Full Marks :l 90 .

Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable |

Illustrate the answers wherever necessary

Use separate script for each Half -

[NEW SYLLABUS]
FIRSTHALF
'(Statistics -1) -
[ Marks : 45
GROUP — A

¢ 7 Over )



Ar:wer any five questions : 2x5
(a; Define mutually exclusive events,

(b) What is conditional probability ?

(¢) Given
P(4)=0-5, P(B)=0-3, P(AN B)=0-20.~"
Find the values of P(4 Ua).

(d) What is simple random sample with
replacement.

(¢) Distinguish between parameter and statistic.
(f) Define Probability mass function.
(g) Define level of significance.

(#) Define power of the test.
GROUP -B
Answer any three questions : - 5x3

2. Show thatif 4 and Bare mutually exclusive events
and neither of them are impossible, then they can-
not be independent.
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3. Three coins are tossed. Find the prob. of

(i) More than one head

(i) Atleastone head.

4. What do youmean by stratified random sampling.
What are its disadvantages. :

5. Discuss the properties of normal distributio;i.
6. Find mean and variance of poisson distribution.

7. What is the chance that a leap year selected
at random, will contain 53 sundays.

GROUP - C |
" Answer any two questions : - 10x2

8. Findthemean and S.D. of the binomial distribution. .
Show that the Poisson distribution is a limiting
form of the bmomlal distribution. 6+ 4

9. State and explain the criteria for a good estunator
of a parameter. 10
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19. (§) Explain the concept of probability density
function. 4

(i7) A continuous variate x has the probability
density function, pdf

f(x)=x/2 0<x<]
=1/2 l<x<?2
=3-x/2 2<x<3

Find the mean of distribution. 6

11. (/) What do you understand by Best Linear
Unbiased Estimator (BLUE). 5 .

(ii) For a poisson distribution
Pr(x=0)=Pr(x= 1)
Find Pr(x > 0). 5

SECOND HALF
{ Development Economics )
[ Marks : 45 ]
GROUP - A
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Answer any five questions : L2
(a) Define vertical equity.

(b) Explain the term forward linkages. i

(c) How would you define 'health’ ?

(d) What do you mean by ‘inclusive grov@th' ?

(e) What is meant by human capital fom;‘.ation 2

(f) Distinguish between capital and investment.

(g) Distinguish between technique and
technology. -

(h) Explain the concept of '"Economic D!ualism'.

GROUP-B -~ .
Answer any. three questions : - 5 x

What are the indicators of economic devqiopment ?
Explain briefly.

Explain the concept of Human Development
Index. ‘
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Explain the concept of sustainable Development.

Discuss the role of foreign trade in Econom:c
development.

What do you mean by environmental resources ?

What do you mean by 'take off in the context of
economic growth.

GROUP - C
Answer any two questions ; 10x2

Briefly discuss Marxian stages of economic
development.

How would you explain the problem of choice of
technique in a less developed country ?

- Explain Leibenstein's theory of critical minimum

effort.

- Explain the importance of foreign aid in the

economic development of a less developed
country.
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(#) Probability mass function FF I ?
() Level of significance F1% I ?
(&) Power of the test I A 17
Rt —
@ @ f&=fe aom Tea e ¢ Ex'®

X1 orre AR 4 @2 B ufb weta fAftes Wb 2 @
BICR TIIAIGIR SPTE4 (impossible) S5+ 7t 28, S
IR AT T8 Go 20O AR [

o | oA T4t cos 31 2
(i) T @A (TS Aot @32
(i) Fwtew @I (O IR I R IR |

8 1 TAGS TG T 57 TS ¥ AR ? e RNt
oo & 1% 2

&¢ | Normal distribution €3 (af<8rsf @4

¥ 1 Poisson fRetema demi @ cows Rfa 32 1

UG/IECOMHAV/1T(New) - ( Continued) -



a1 Pwitar 3 wid<d 7t randomly select ¥ =8 53
AR A A TS | |

st — o |
@ CFI 6 2T SR W ¢ s x4y

v e Rt ofp 93 s Ryl R a1 1 49w
@ poisson Rewem faem Rerr® agfs g
w Y0

51 G fefiven Tore s Rvier Afoaf e s
T FT 30

o1 (i) Probability density function (p.d.f) ¥X=F
[ ? j 2

(if) &= v@afix 97 p.d.f

f(x)=x/2 0<xxl
=1/2  lI<x<2
=3-x/2 2<x%<3

Distribution &% % (mean) T t

%

UG/ALECOMAV/IT(New) " Turn Over )



(10)
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